



Déterminez quel nombre rend correct les deux équations.

**Réponses**

1) \_\_\_\_\_ + 7 = 14  
14 - 7 = \_\_\_\_\_

2) \_\_\_\_\_ + 4 = 16  
16 - 4 = \_\_\_\_\_

3) \_\_\_\_\_ + 2 = 14  
14 - 2 = \_\_\_\_\_

4) \_\_\_\_\_ + 4 = 10  
10 - 4 = \_\_\_\_\_

5) \_\_\_\_\_ + 8 = 15  
15 - 8 = \_\_\_\_\_

6) \_\_\_\_\_ + 1 = 14  
14 - 1 = \_\_\_\_\_

7) \_\_\_\_\_ + 10 = 14  
14 - 10 = \_\_\_\_\_

8) \_\_\_\_\_ + 16 = 18  
18 - 16 = \_\_\_\_\_

9) \_\_\_\_\_ + 2 = 19  
19 - 2 = \_\_\_\_\_

10) \_\_\_\_\_ + 2 = 15  
15 - 2 = \_\_\_\_\_

11) \_\_\_\_\_ + 1 = 17  
17 - 1 = \_\_\_\_\_

12) \_\_\_\_\_ + 1 = 3  
3 - 1 = \_\_\_\_\_

13) \_\_\_\_\_ + 7 = 19  
19 - 7 = \_\_\_\_\_

14) \_\_\_\_\_ + 5 = 19  
19 - 5 = \_\_\_\_\_

15) \_\_\_\_\_ + 11 = 16  
16 - 11 = \_\_\_\_\_

16) \_\_\_\_\_ + 2 = 9  
9 - 2 = \_\_\_\_\_

17) \_\_\_\_\_ + 3 = 17  
17 - 3 = \_\_\_\_\_

18) \_\_\_\_\_ + 5 = 12  
12 - 5 = \_\_\_\_\_

19) \_\_\_\_\_ + 4 = 17  
17 - 4 = \_\_\_\_\_

20) \_\_\_\_\_ + 4 = 12  
12 - 4 = \_\_\_\_\_

1. \_\_\_\_\_
2. \_\_\_\_\_
3. \_\_\_\_\_
4. \_\_\_\_\_
5. \_\_\_\_\_
6. \_\_\_\_\_
7. \_\_\_\_\_
8. \_\_\_\_\_
9. \_\_\_\_\_
10. \_\_\_\_\_
11. \_\_\_\_\_
12. \_\_\_\_\_
13. \_\_\_\_\_
14. \_\_\_\_\_
15. \_\_\_\_\_
16. \_\_\_\_\_
17. \_\_\_\_\_
18. \_\_\_\_\_
19. \_\_\_\_\_
20. \_\_\_\_\_



Déterminez quel nombre rend correct les deux équations.

$$1) \quad \underline{7} + 7 = 14$$

$$14 - 7 = \underline{7}$$

$$2) \quad \underline{12} + 4 = 16$$

$$16 - 4 = \underline{12}$$

$$3) \quad \underline{12} + 2 = 14$$

$$14 - 2 = \underline{12}$$

$$4) \quad \underline{6} + 4 = 10$$

$$10 - 4 = \underline{6}$$

$$5) \quad \underline{7} + 8 = 15$$

$$15 - 8 = \underline{7}$$

$$6) \quad \underline{13} + 1 = 14$$

$$14 - 1 = \underline{13}$$

$$7) \quad \underline{4} + 10 = 14$$

$$14 - 10 = \underline{4}$$

$$8) \quad \underline{2} + 16 = 18$$

$$18 - 16 = \underline{2}$$

$$9) \quad \underline{17} + 2 = 19$$

$$19 - 2 = \underline{17}$$

$$10) \quad \underline{13} + 2 = 15$$

$$15 - 2 = \underline{13}$$

$$11) \quad \underline{16} + 1 = 17$$

$$17 - 1 = \underline{16}$$

$$12) \quad \underline{2} + 1 = 3$$

$$3 - 1 = \underline{2}$$

$$13) \quad \underline{12} + 7 = 19$$

$$19 - 7 = \underline{12}$$

$$14) \quad \underline{14} + 5 = 19$$

$$19 - 5 = \underline{14}$$

$$15) \quad \underline{5} + 11 = 16$$

$$16 - 11 = \underline{5}$$

$$16) \quad \underline{7} + 2 = 9$$

$$9 - 2 = \underline{7}$$

$$17) \quad \underline{14} + 3 = 17$$

$$17 - 3 = \underline{14}$$

$$18) \quad \underline{7} + 5 = 12$$

$$12 - 5 = \underline{7}$$

$$19) \quad \underline{13} + 4 = 17$$

$$17 - 4 = \underline{13}$$

$$20) \quad \underline{8} + 4 = 12$$

$$12 - 4 = \underline{8}$$

**Réponses**1. 72. 123. 124. 65. 76. 137. 48. 29. 1710. 1311. 1612. 213. 1214. 1415. 516. 717. 1418. 719. 1320. 8